AP Cocleolus AB/BC #1 Key S0

N /5 - CD-CB - (L9-85- -
7-3 7-3

C(5)= 4 C%min

2 5l1€(t)dt _ (3-0)(100) + (1-3) (85 H3- -6

= 3(100) +4(85)+ 5(69)
300 + 340+ 345
9% 5

1;5 Ct)dt 1o the average femperafvie

of coffee I d rees Celaius as 7T
cools In the cup over time O£tz 12mh.

.l

C) S c’(t)dr = C(30)- C( 1)
I

Z14.LT708119HH4 = C(0)— 52
C(ad) 2 40.33918 C°

D) C/(t)>0 on [Q<E<A0, so Temperaive

of Coffee Is charging at an
INCredsing rate on inferval.



AP (aleolus AB/BC Ha Koy

A) At t= 142560 the particle is ab rest
O<Lt <« (.42l v(t)?O,soﬂne
particle s moving 1o the right.

B) a(t)= Ve

%D’@jh 5

0(1.8)<0 and V(I:5)<0, so the
speed of the particie IS incredsing

ot t=1.5 swnce Signs are +he same.

0) 1@= A+ S, v D3
= =3+ 0,147
X() = ~3.80388
The position of the partitle axtime
t=H IS — B0

D) j’” | v(D)| ¢t = 0-95813




AP Crlevlus AB/RL 43 Key
A) ,0”_‘_’ H(0)= 4

5/\

——t—t—t>
5

B) 8- L (4-1) cos )

a2
o= (1) o3 (%)
(.‘,03'6%)':0

+ =T

W, 4+ O

Ho ine T dec S

AL =T H/(M=0 and HE)
changes from  increasing fo decrensiag
i t=T. This crifical point 1S
relehive maximum for depth of
Seaunder.



() 8. L (H-1) cos (L)
2 - Je(E) dt
SH—i AH Swj’(a-

2 In#-1] = sinf[S)+ C
InH-1] = sinf&)+c
In]4-1) = sin0+C
3 =0
In [H-1] = sink)+1n
e

H(0)=4

4-g - ot gh3
HE = 3 esm(%)Jri




AP Cplevlus AB/BC 4t key
A g0)= L_éfét)di = —i{@)&t =712
geh) = St = F(H@D=4
§6) = J, AL + 7 fBdt= h+(D=3
g(-0="13; q(A)=4 5 9(&)=3

B) 36() has a crdica) point where
f00 = g1 = 0-This oceurs
ot x4 £ =g1D=0

eY h(x-= 5:#’(40 dk

) = §°$dt = £(6)- (-6
~b = '1 - 005
h([g) = "lo5

N0 = g[S at] =41
o) +16)= 1
\f\//((o): 'F”((D: ;Q_




AP Calculus AB #5 Key

Ay 4 ] ) I

) 6\"1\@.4) 3+H(H) |9
TL. Y="Fg(x-)+1

Y= (3-)+H
-

B) K y=1 &4 3(N)+(1F = H
X2 = A3
X = _t\l_% (\r‘;_/-‘_é_’ iﬂ?
y=0 0z 33,2
3+ ACD)
No, y=1 is nof tangert 4o Cufve
Point (A3, 1) or (—{A31) does
not  sathisfy %%i: 0



# 5 K@Lj (M)
-l - ~8J3
) %‘ (m,o)z 3+4(0) 3

No, the tangent line @t ¥%-aXiS
's not vertical because

%@ 13 ’%3.

D) Y’ +axy=d4
24 g4 + dx by + ALy= 0
o G.}) 3R+ 2NN +AWdE=0

%: ~4 —1l +H %ﬁ:o




AP Calewlus #QJK%L

A REO= §[F0-g00Jdx
5y S(0= (L] dx

C) V(x) - Sj T ((;zo);- T [ao- g(x)] de



